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#% ZHAH 2 = e | R BE | s
1 | 54308 jﬁégg/ SR 20226M % 1/2(L | gogoe 10,000| 540,000
2 | 6308 géég ~f 6R% 20400 x1/2(L | gomen | 10000| 530000
3| 78238 | HAYYLK 7AS 13346 % 1/2 WERRR 6,673| 523,327
4 | 8A28H %gﬁg ~f 8R7 22503 X 1/2(L | pogos 10,000| 513,327
5 | 9A28H %gg’ SRR 22168 x1/2(L | yamamm | 10000 503327
6 | 10A298 ?_I:j[;é;,ﬁ{)t 10R% 21020M %172 | o gs 10,000| 493,327
7 | 118308 ?Jj}léga{)t RS 21056M %X 1/2 | yagmwm |  10000| 483,327
8 | 128318 ?J;jnlégg)t 12R% 20412 X1/2 | gopus 10,000 473,327
o | 18278 gégg" 1A% 20263M x1/2(L | gagem | 10000 463327
10| 2/298 ﬁééﬁ’ R 2A5 20374Mx1/2(L | gogws | 10000 453327
11| 3A31H %gﬁlg 43R5 20806F X 1/2(L | gopmsn 10,000 443,327
12| 7A138 | ke #HE HHEE 17,780 425547
13| 7A138 | HFHEL FHEAE WEWRE | 52610 372,937
14| 11828 | hEHHYIvR2023nFTHRE HEE 75,360 297,577
15| 5A318 | ool BE& #4 5A% BHBAR 3,400 294,177
16 | 6A308 | ZEotHlE FEEH 6AS AHBAR 3,400 290,777
17| 7A818 | scHE HEHE 1A% AHBAR 3,400 287,377
18| 8A31R | HTHE BHH 8AL AHMAR 3,400| 283,977
19 | 9A308 | E5cHE SN 9AS BHBAR 3,400| 280,577
20 ( 10A31H | EESEHE BHEH 10A% HHBAR 3400 277,177
21 | 11A308 | Z5HE BEH 1AS HEHBAR 3,400| 273,777
22 | 12A318 | BEHE BEM 12A5 BRBAR 3,400 270,377
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